ol

9|

ol
No
ﬁo
gl

o

il
<

oln

24+= 3 7ich

ok

AL
00

_g]

g4 3 7ot

o

om

5 7oldt.

5

=02 AlY

i
ok

&



@ -15[] -1
® -37[]1-37
4 5

® - []-5

BE57L U2 o o2 2
® |—%l []o

3 1

® -7 L-3



O (+4) +
@ (-16) -

ARk

At o o 74 e A

(+7) @ (+6) + (-8)
(+2) ® (-6) - (~11)

[o
K

A= =2



D =10 ® -11 3 =12 @ -13 B —14




=S
—

43+ x2 -2 oA B

4]

o

5.

B 4

@ 2






@ 17 @ 270 3 374 @ 470 ® 574




8. the 54 Fo4 x =2 SR AL PAAS nEW?

@ 5x-3x=-10 @ 10x+35 =120
@ 2x-1=7 @ 64 x=4x

B x+2=0



2] of#1) ] Lol 43 4], oF5€] Lol 9 Alelet. opx|e] tfolzh
oFE] ttel9] 3 W7k Ht e B A FR

@ 695 @74
@ 8 =

-lOll



10. FHollA stw7bA] w2 50m o] &= o g 12&0] AL, StulofA
EAT7HA] B4 60m 2 8 7o) AAt, HollA stus AA =TS
7+ a1 gict, Gupit dojof sh=2] oo et.

Yt m



11.

FAFa, bl Hotd axb<0, a<b @0, h3 F B

@ a>0 @ b<0 @ axb>0

@ -axb>0 ® ax(-b) <0



12.



13. og 42 AN

O -4(7x-9)

DO

® Z(-a-12)

w

5

of, 17}



